ORM QUESTIONNAIRE

**Circle the letter of the correct answer.

1.  What does ORM stand for?

a) Occupational Risk Management

b) Operational Risk Management

c) Occupational Risk Mishaps

d) Operational Risk Mission

2.  What is the Air Force Instruction governing ORM?

a) AFI 91-213

b) AFI 32-2001

c) AFI 11-215

d) AFI 91-204

3.  A1C Smith is at home preparing to work on a light fixture in the ceiling, while working from a metal ladder.  Has A1C Smith used proper ORM?

a) Yes

b) No

4.  What is the first step in ORM?

a) Make a risk decision

b) Assess the hazard

c) Implement controls

d) Identify the hazard

5.  Who has the responsibility to effectively manage risks?

a) Workers

b) Supervisors

c) Commanders

d) Safety

6.  ORM provides common since solutions to hazards before they cause a mishap or mission failure and is proactive way to find and resolve hazards rather than reacting to something which goes wrong.

a) True

a) False


7.  What answer is an “individual” responsibility in ORM?

a) Identify hazards/risks to supervisors

b) Balance what is wanted versus what is needed

c) Integrates risk controls into plans and orders

d) Develop a total commitment to mission accomplishment

8.  The risk assessment step in the process uses which three variables to decide if a hazard will result in a mishap?

b) Who identify the hazard, location, and time.

c) The exposure, possibility, and abatement cost.

d) The probability, severity, and exposure possibility.

e) The location, time, and probability.

9.  Maj Tom is going flying in his private plane.  He has performed a pre-flight check of the aircraft and submitted a proposed fight plan for the day.  A friend shows up before he takes off to go with him, they decide to fly to a new location for lunch without submitting a new flight plan.  Has proper ORM been used?

a) Yes

b) No

10.  Prior to implementing a control measure that is beyond your scope of authority, you need to get approval from the appropriate level.

a) True

b) False

1 = b

2 = a

3 = b

4 = d

5 = c

6 = a

7 = a

8 = d

9 = a

10 = a

